CNDB) .



$%!




CNDB)) .




CNDB .

LE BOiE AVANEE.
T ——

#( & )




CNDB) .







Hydrogéne Azote

Oxygéne
43%

Carbone
50%

' % 0







7 8(6& ,, 9










I &

& 1









&

(&,






?2## $0 @A #: @ BB
, -./ 0 1*

4%:



4%:

"454



4%5@A5

$05B ! #: C@:%! #:%!
- )’+*
- 1&&"



4%5@A5

ABB@## : 0@!: F
, - A "GH
- 6



4%5@A5

3 "454



$?2:A:C% @

$ %A@ :BBO$:A-BA @O05: % #B5##B
, -2
- 8#



$? %

4: ##0% ! %A@ 4:@% BA $#0!



$? %

5:B0% -0@ A 0B $?:#0% %
$?7:54:C%
) - 9 1l1 )



$? %

ABB@## B50% ! : 0@
- +0'9



@0 % @

TAO@ 5 % : C%0%

-)



@0 % @



444 @ @A -

5:B0% 1B: %A 1@ F#:. 4 @%7
-+
- 7



10 C#.B

J%A! #50CB

-9



10 C#B

4B$% ! 50@A @ :A0 @B
_)*
-



"454



$%!



K
B:#0%B L 5:% - BA:A 0%B

lllllllllllll

" #
$ %
4 & D? - KE6
& & & &
& & = =
&, $%!"
%
% % (



K S N

B:#0%B L 5:% - BA:A0%B: % @

& 0%+ -+ "0



K

$:54:C% ! $055% $:A0% M8 6 9

H 8 6
4 ( M
$ , A&& A&& D
) & &
8 9 N O &
)4, ( 3
K$& (3

lllllllllllll



: K L S s e
-0@5:A 0%B
<. = ) ++)
+20& O

< =

$A0%B A @@ AO@ :# B

) < > =
?, . @A
1l A0%B 4 # $:A 0%B
S # < , 9
BC % 9
* ( (
% 8 B& 99%00

& "454



